
2500/3500 Outback Kitters Shock Guard 
Installation Procedure

INSTALLATION INSTRUCTIONS	

NOTE: FAILURE TO INSTALL THIS PRODUCT AS SPECIFIED IN THE INSTALLATION PROCEDURE WILL VOID ALL WARRANTY. IF ANY PARTS HAVE 
ARRIVED DAMAGED OR WERE NOT SUPPLIED IN THE KIT, PLEASE TAKE PHOTOS AND THEN PROCEED TO CONTACT YOUR SUPPLIER.

2500/3500 Outback Kitters Shock Guard 
Installation Procedure

INSTALLATION INSTRUCTIONS

EASYDIFFICULTY

30 MINSTIME

	z 2 x Outback Kitters Shock Guards                                                      

	z 1 x Bolt kit

IN THE BOX

	z 13mm spanner

	z 13mm socket 

	z Ratchet/electric ratchet

	z A hoist or jack + jack stands is 

recommended

TOOLS REQUIRED

NOTE: FAILURE TO INSTALL THIS PRODUCT AS SPECIFIED IN THE INSTALLATION PROCEDURE
WILL VOID ALL WARRANTY. IF ANY PARTS HAVE ARRIVED DAMAGED OR WERE NOT SUPPLIED

IN THE KIT, PLEASE TAKE PHOTOS AND THEN PROCEED TO CONTACT YOUR SUPPLIER.

OVERLANDING 
THE AUSSIE WAY



2500/3500 Outback Kitters Shock Guard 
Installation Procedure

INSTALLATION INSTRUCTIONS	

NOTE: FAILURE TO INSTALL THIS PRODUCT AS SPECIFIED IN THE INSTALLATION PROCEDURE WILL VOID ALL WARRANTY. IF ANY PARTS HAVE 
ARRIVED DAMAGED OR WERE NOT SUPPLIED IN THE KIT, PLEASE TAKE PHOTOS AND THEN PROCEED TO CONTACT YOUR SUPPLIER.

1

1.1

Sit the Outback Kitters shock guard 
up against the bottom of the shock 
bracket on the rear axle and line up 
the mounting holes.

Refer Image 1.
Image 1

Image 2

2

2.1
Using the last M8 bolt, M8 washers 
and M8 lock nut supplied in the kit, 
proceed to secure the front hole in 
the Radflo shock guard.

Refer Image 3.

2.2
Once both bolts are in, using a 13mm 
spanner and 13mm socket on a 
ratchet, tighten both bolts.

Refer Image 4.

Once bolts have been tightened, the installation 

of the shock guards are now complete.

Image 3

1.2

Using a M8 bolt, M8 washers and 
M8 lock nut supplied in the kit, 
secure the rear hole of the shock 
guard first and leave it loose.

Refer Image 2.

Image 4


